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TrA-_T4tI9r<A>
ERE 260,000 A
= 1,530 F/B x30= 45,900 A
£ EBREE 370 F/B x30= 11,100 A
FAZT4t vk 1,309 A/B x30= 39,270 H
AN2NEBEDIBES it 356,270 M
BZEDHE it 521,270 M

TrA=—T14tvb<B>

ERE 260,000 A
BE 1,530 F/B x30= 45,900 A
SEREE 370 /B x30= 11,100 A
TA=T4tvbk 990 /B x30= 29,700 H
AN 2NEBEDIHE it 346,700 M
BEEDHE &t 511,700 A

TrA=—T14tvb<C>

EEE 260,000 M
BE 1,530 A /B x30= 45,900 A
SEREE 370 M /B x30= 11,100 A
TA=T1Evk 627 M /8 x30= 18,810 H
AN2ANTEDIZE &t 335,810 M
BEDHE &t 500,810 A

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

X BES ERZERETNHIGE. MR, EREFENRLELET.
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FAZTF 12y <A>
ERE 180,000 H
= 1,530 F/B x30= 45,900 A
AEREE 370 m/B x30= 11,100 A
TA=T 1ty 1,309 F/8 x30= 39,270 H
AN 2NEREBDHE &t 276,270 M
EEDHE &t 441,270 A

FA=TF 1y <B>
ERE 180,000 H
BE 1,530 F/B x30= 45,900 A
AEREE 370 B/B x30= 11,100 A
TA=T 1ty 990 A/ x30= 29,700 A
AN 2NEREDHE &t 266,700 M
E=DZE &t 431,700 A

FA=TF1yk<c>
ERE 180,000 H
BE 1,530 A /B x30= 45,900 A
AEREE 370 M /B x30= 11,100 A
TA=T 1ty 627 A /B x30= 18,810 A
AN 2ANEREDHE &t 255,810 A
BEEDIGE &t 420,810 A

X HES.EHBREFN G,

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

me . AR, EREESRELFET,

S7F4R1B1ERK



m7EBRkk 30BHEMER

~EEBHUNEYT—a mE (BHA) ~

<70 LI E>3EIEE

RKI

TrA=—T4IYF<A>

ERE 95,000 A
BE x30= 45,900 A
HERER x30= 11,100 A
TA=T1EYk x30= 39,270 H
AN 2NEREBDHE it 191,270 A
BEEDHE &t 356,270 M
FA=ZF b <B>
ERE 95,000 M
BE x30= 45,900 A
HERER x30= 11,100 A
TA=TaEYk x30= 29,700 H
AN 2NEREDHE it 181,700 A
BEEDHE &t 346,700 M
FA=ZF 4k <C>
ERE 95,000 A
BE 1,530 A /B x30= 45,900 A
SEEREE 370 M /B x30= 11,100 A
TA=T 1ty 627 A /B x30= 18,810 A
AN 2ANEREDHE it 170,810 A
BEEDHE &t 335,810 A
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(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)
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